RS540 A : SRS INEE e B

JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
x| 48,677 109, 509] 53, 253] 56,256| 220 74 -62 50 112 136] 791 655 0 155 155
HI—TH 700/ 1,482 723 759 1 -5 -2 0 2 -5 3 8 2 5 3
FLl T H 557IL 1,281 632 649 —4 -7 0 1 1 -11 1 12 4 5 1
LI =TH 462 1,037 500 537 1 -2 0 1 1 —4 3 7 2 2 0
SLlAEH 1L, 7190 3,800] 1,855| 1,945 =2 -14 -2 2 4 =20 7 27 8 12 4
Sk —TH 475 938 439 499 1 1 -1 0 1 2 5 3 0 0 0
. = 722 1,702 812 890 -1 -13 -1 1 2 -7 2 9 -5 1 6
SR —TH 5511 1,293 619 674 3 7 -5 1 6 14 20 6 -1 4 5
S AT H 402 888 438 450 2 -3 1 1 0 -1 6 7 -3 0 3
ot T H 615 1,314 632 682 4 -2 0 2 2 -2 5 7 0 2 2
BN T B 240 507 252 255 -1 -1 1 1 0 -1 1 2 -1 0 1
ARt TH 646| 1,658 805 853 0 2 -2 0 2 4 11 7 0 4 4
oA\ T H 387 846 390 456 1 -1 -3 0 3 -3 1 4 5 5 0
IV B 615[ 1,460 720 740 3 8 2 2 0 1 7 6 5 5 0
B naatl 4,653 10,606] 5,107 5,499 12 -2 -8 8 16 7 58 51 0 21 21
e n—1H 357 813 401 412 4 5 0 0 0 5 8 3 0 0 0
sk T Al 10150 2,105 1,061 1,044 3 -1 0 2 2 —4 13 17 3 4 1
HHk o —TH 678[l 1,390 687 703 2 2 -2 0 2 -1 5 6 5 5 0
Wk A EL 2, 0500 4,308 2,149 2,159 9 6 -2 2 4 0 26 26 8 9 1
Mt A — T H 550 1,239 605 634 -3 -16 -1 0 1 -11 3 14 —4 0 4
ek R _TH 357 917 468 449 -2 0 1 1 0 -1 1 2 0 0 0
Mk R =TH 257 552 288 264 1 3 -1 0 1 4 2 0 0 0
ik L G| 563 1,300 662 638 2 -1 1 1 0 4 2 -6 0 6
msEr aaEtl 1,727 4,008 2,023 1,985 -2 -14 0 2 2 —4 16 201  -10 0 10
JCE g 369 848 408 440 0 -3 -2 0 2 -2 2 4 1 2 1
HOEEN— T H 208 428 209 219 2 -1 0 0 0 -2 2 4 1 1 0
HOEE T H 420 935 458 477 1 1 -1 0 1 5 11 6 -3 0 3
HoEEI =T H 687| 1,684 827 857 -1 -12 —/ 0 4 -6 3 9 -2 0 2
HOEEAN T H 807| 2,029] 1,005 1,024 1 -2 0 1 1 -2 4 6 0 0 0
HEROH T H 445 1,029 522 507 7 11 0 0 0 10 15 5 1 1 0
HOEEIS T H 394 880 429 451 -1 -2 0 0 0 -2 2 4 0 0 0
HoEEOETH 676l 1,458 714 744 3 5 0 1 1 3 12 9 2 2 0
HOEEHO S AR 3,637 8,443 4,164| 4,279 12 0 -5 2 7 6 49 43 -1 4 5
PEEE 1,5200 2,786 1,328 1,458 8 1 —4 1 5 6 24 18 -1 1 2
FHIAR 298 628 327 301 0 2 -2 0 2 2 3 1 2 4 2
EE g —T 547Il 1,117 516 601 -2 -3 2 2 0 -2 5 7 -3 0 3
EE g — T 255 508 254 254 -2 -6 0 1 1 -3 4 7 -3 0 3
R =T H 531 1,168 586 582 4 8 -1 2 3 9 11 2 0 0 0
EESN R T H 639 1,296 610 686 5 5 -3 0 3 10 17 7 -2 3 5
EEP g R T H 238 540 271 269 3 5 -1 0 1 2 4 2 4 4 0
EEP A2 2 2100 4,629] 2,237 2,392 8 9 -3 5 8 16 41 25 -4 7 11
EEIARRT— T H 694 1,393 653 740 6 11 0 1 1 14 20 6 -3 0 3
EEIARRT T H 656 1,269 587 682 -1 -8 -1 1 2 -5 5 10 -2 0 2
EEOARRTAE 1,3500 2,662 1,240 1,422 5 3 -1 2 3 9 25 16 -5 0 5
RPN 273 773 420 353 1 1 1 1 0 -1 0 1 1 1 0
WHR—TH 723 1,645 811 834 3 2 0 0 0 0 15 15 2 5 3
AR T H| L 743 3,960] 1,910] 2,050 -4 -17 -5 1 6| -—15 15 30 3 8 5
WHR=TH 871 2,215 1,079 1,136 3 0 -2 0 2 2 0 1 1
HHRIT H 494 1,178 558 620 1 4 0 0 0 7 -3 0 3
HPREEH 3,831 8,998| 4,358 4,640 3| 11 -7 1 8 -6 44 50 2 14 12
HiR—TH 718l 1,575 766 809 16 22 0 1 1 24 32 8 -2 4 6
LR - TH 930| 2,216] 1,106 1,110 4 5 -3 1 4 7 20 13 1 5 4

PR =TH 498 1,057 537 520 5 7 0 0 0 7 9 2 0 0
EFRAR 2, 146[  4,848] 2,409| 2,439 25 34 -3 2 5 38 61 23 -1 9 10

T IROBTHT 329 813 392 421 3 2 -1 0 1 2 6 4 1 1

el 1,607 5,088 2,267[ 2,821 -2 -6 0 2 2 —4 13 17 -2 2

M E T H 738 1,704 818 886 3 2 -1 2 3 9 18 9 -6 2




R5.4.1 Bl SramEEAnR S sl R
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 763l 1,820 912 908 -1 -1 0 1 1 0 9 9 -1 0 1
MoE =1 H 645 1,505 746 759 -1 —/ -1 0 1 1 2 1 —4 0 4
A EN T H 931 2,200] 1,034 1,166 -5 -19 -1 1 ol -14 4 18 —4 3 7
RCENNE 662 1,495 736 759 5 7 0 0 0 0 8 8 7 7 0
MAEST H 421 987 460 527 1 1 0 0 0 -1 0 1 2 2 0
Ml EaE 4,160( 9,711| 4,706] 5,005 2| -14 -3 4 7 -5 41 46 -6 14 20
VEPIe S 568 1,135 556 579 8 12 -1 0 1 7 13 6 6 8 2
e —TH 321 692 329 363 -1 -3 0 0 0 0 1 1 -3 1 4
e — T H 5951 1,319 626 693 -1 -3 -3 0 3 -1 3 4 1 1 0
A gl 916| 2,011 955| 1,056 -2 -6 -3 0 3 -1 4 5 -2 2 4
Eh— 1 H 340 709 371 338 10 2 -1 0 1 2 33 31 1 1 0
= =T H 645 1,376 647 729 6 10 -2 0 2 14 17 3 -2 0 2
=T H 415l 1,076 535 541 7 11 1 1 0 10 14 4 0 0 0
EAEr| 1,400 3,161 1,553] 1,608 23 23 -2 1 3 26 64 38 -1 1 2
e —TH 378 909 427 482 -2 =10 —4 0 4 -4 4 -2 0 2
WHE T H 4411 1,080 538 542 0 -7 -1 0 1 -6 9 0 2 2
HWHE =T H 824/ 2,005| 1,029 976 6 4 -1 0 1 2 14 12 3 3 0
W& T B 446l 1,025 498 527 -1 —4 -1 0 1 -3 2 5 0 0 0
B E ] H 827l 1,789 875 914 6 11 -2 0 2 3 10 7 10 10 0
HHIENT H 245 512 257 255 0 2 0 0 0 1 3 2 1 1 0
HESEr 3,161 7,320 3,624] 3,696 9 —4 -9 0 9 -7 32 39 12 16 4
<HWE—TH 594 1,350 657 693 -7 -18 -2 0 2 -14 9 23 -2 0 2
<HEIL—TH 712 1,475 718 757 —4 —4 -1 1 2 -5 4 9 2 3 1
SHBEIL=TH 519 1,146 556 590 -6 -7 -2 0 2 —4 4 8 -1 0 1
<HEWLPTH 576 1,182 583 599 0 —4 -1 0 1 -3 4 7 0 0 0
<O T H 287 643 347 296 —4 -9 -1 0 1 -5 6 11 -3 0 3
<X AR 2,688 5,796 2,861 2,935 -21| 42 -7 1 8| -3l 27 58 —4 3 7
WIE AR —TH 7920 1,695 838 857 7 1 2 3 1 -1 20 21 0 1 1
WIEAR T H 476| 1,134 581 553 1 -2 0 1 1 -3 2 5 1 1 0
PIEAITSE 1,268  2,829] 1,419| 1,410 8 -1 2 4 2 —4 22 26 1 2 1
s 397 765 368 397 6 14 1 1 0 16 20 4 -3 0 3
ek —TH|[ 1,134 1,789 818 971 47 37 1 1 0 48 77 29 -12 2 14
e T H 474 776 381 395 31 32 2 3 1 25 34 9 5 5 0
ok T H 684 1,732 817 915 10 10 0 1 1 1 11 10 8 10 2
sk BRI H 409 854 412 442 3 0 2 2 0 2 12 10 —4 1 5
o aaEll 2,701 5,151 2,428] 2,723 91 79 5 7 2 76 134 58 -3 18 21
FRIREET 20 53 28 25 0 0 0 0 0 0 0 0 0 0 0
B 745 1,726 831 895 0 5 -3 0 3 8 12 4 0 0 0
VEEE 319 726 332 394 -2 -6 -1 1 2 -3 5 -2 0 2
e — T H 454 1,113 552 561 -3 -8 -1 0 1 -6 9 -1 0 1
e T H 409 920 450 470 2 0 0 0 0 0 5 0 0 0
oo B R 863 2,033] 1,002] 1,031 -1 -8 -1 0 1 -6 14 -1 0 1
P — T H 683 1,391 695 696 9 15 0 1 1 13 24 11 2 2 0
P T H 541 1,292 610 682 3 —4 0 0 0 -5 5 10 1 1 0
Ve A Er 1,224 2,683 1,305| 1,378 12 11 0 1 1 8 29 21 3 3 0
P e 319 683 342 341 2 1 -1 0 1 1 2 1 1 0
BEHIR 209 488 259 229 5 2 0 0 0 2 3 0 0 0




